Walls

This is one of a number of puzzles which | have presented owétesite invented by Naoki Inaba. The others
included here aré_-Panel and Marupeke. Another of his puzzles he calld8lock Number which is now
appearing in some newspapersSaguru in a trivially small form which will exercise the mind for a mite or

so. Larger forms | find tricky to make, and as they are alsoerasimple to solve | have left them off the menu.
Alex Bellos reckons that Inaba is the most prolific puzzlesimor of our age so there should be plenty more to
come.

The object of this puzzle is very simple —fill each empty cethva wall section, pointing either across or up and
down. The number given in a shaded cell is the total numberadifsgctions which join to that cell. Every empty
cell must be filled with a wall section with no ambiguity as t® erientation, but it is not required that all wall
sections lead to a shaded cell.

The diagramA below is an initial puzzle. I8 all the possible wall sections which can be joined to the e t
top row are shown, and as there are five sections, one musjdated What is important here is that there are
two wall sections which cannot be chosen for rejection, &.ifthese wall sections now reduce the possibilites
for the 2 on the second row to three positions, Brghows the one of these which must be chosen. This one ther
restricts the 2 in the left column to three possibilitiesaiagvith one which must be chosen asEn
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The 2 on the second row is now determined, givingHere we see two cells which adjoin the lone 1, but it is
obvious which we have to choose, as setting the verticaboptiould join to the section already in place and
would give too many sections from the 1; this wall section tihsrefore be set across as@, contributing to
the score for the 2 in the fourth column. Only one more sedsameeded to satisfy this 2, so the top cell in the
fourth column must be set across. This and the last availaéliesection is needed by the 4, and the puzzle is
then solved as iH.

| have found these puzzles quite infuriating to make at tiraed make a small change to get what I'm aiming
for, and suddenly there are a host of other solutions. But the next one that | try to make smiles at me from
the drawing board and | wonder whether I'm being teased! Wyarive had your fill with these try making
some yourself as this is just as much fun — when you have warkédome strategy for avoiding or rectifying
the multiple solutions.
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